} d mtbar{t}[l IG eVZ]

tbar{t

1/od’c/ dp

Ratio to ATLAS

'k
o

=
<
IN

(€3]

=
o
&

1077

[EEY

0.5

13000 GeV pp
| I l |

] T T I | ! ! ! | ! | | mp

= 1%

- pibar (ATLAS semileptonic ttbar) 13
=

B I

— =R

- 1N

- do
—i

— ;, | Fi

| !‘I \‘ b

B B -2

— N e

- N .

- m ATLA s

| £ Pythia't:428 350 7

---&-- Pythia 6. 428 351,

— --¥-- Pythia 6.428 352 "\‘%@;% E

—  .a- Pythia6.428353  °® .

-0~ Pythia 6.428 354 _

— --%-- Pythia 6.428 355 |

| 2 Pythia 6.428 356 =

- Pythia 6.428 357 -

- Pythia 6.428 358 .

|~ --=-- Pythia 6.428 359 :

:| | | | | | | | | | | | | | | |:

:l T T | T T T | T T T [ ' I I l:

B ¥ 2 ;

L @f,,' i

- " i

| 1 1 | 1 1 1 | 1 1 L l L : I :
0 200 600 800

400
p*)GeV], m™*%} in [400,550] [GeV]

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


